Some Practice Questions for the Test2

Your Test will be Different
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1.a) Agraphofy = % + % is given below.for x in [1,2]

y

15 '-'
1.4 '-'
151
12T
1171
10}
0.9 '-'
08T
07T
06T
0571
0at
0.3 '-'
02T

01T

00 +——+————————————+——————+———
0.8 0.9 1.0 11 1.2 13 14 15 1.6




1.0 ':'

0171

0.0
0.8




el
131 5
121
111
o]
09 +
os | p Q
07+
08 &
as |
na |
oz |
oz |

0l T

-ttt
0z 0 10 11 12 13 14 1.5 l& 17 12 19 20

) Find the sum of the distances |[PQ|,|QR|,|RS|,|ST|

II) Use the arc length formula to compute the length of the arc of the graph from
PtoT

Write the absolute value of the difference between the answers in parts 1) and
part II)

b) Find the area of the surface of revolution obtained by revolving the graph of
y = <2X_X2>1/2
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for 0 < x < 2 about the x-axis.

2. Evaluate
a) Ix5exdx
b). Ixz Inxdx
3. Evaluate

a). jxtan_lxdx

b). Isin Jxdx

4 Evaluate J.sec5xdx
5. Evaluate Isin3xcos3xdx

6. Evaluate 'sinzxcoszxdx

2
X—dx

4 —x2

7. Evaluate i

8. Evaluate j
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1/9+x2

23x+2x*=75
9. | - 2x2-25x150 0¥



X—6 dx
10. I X2=2x+1
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12 | Find the limit (exact value) of the following sequence if it exists
a) {tan"'n}
b) {nsin()}
c) {sin(£%) }
d) { L )
o) {57 )
0 { W=t

a) {v"r}rg +n —n}

13. Which of the following series converges or diverges.
Find the sum (exact value) in the case of convergence.
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Z (tan‘l J3 )H

n=1
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i (tan—l (1 J3 ) )J:

n=1

C) 17+8+4+2+1 +ebetobmtamt
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d)

1
Z (2n+1)(2n+3)

n=1



14 . Use the integral test to determine which of the following converges

a) ; }?].}1}?
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b) Z (Inn)?
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c)zz—;
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15. Find the least positive interger v so that the remainder after adding v terms of

the series ZL} is less than 0.00001
n=1 n



